Приложение 2.

Тест № 1.
	Решить уравнение

	Ответы

	1.cos x = 
[image: image1.wmf]2

1


	1. x = ± [image: image3.wmf]3

p


 + 2πn, n
[image: image4.wmf]Î
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	2. cos x = 
[image: image6.wmf]2
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-


	2. x = ± [image: image8.wmf]6
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p


 + 2πn, n
[image: image9.wmf]Î
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	3. cos x = 

             
	3. x = ± arccos 
[image: image12.wmf]3

1

 + 2πn, n
[image: image13.wmf]Î

z

	4. cos x = –1,1
	4. корней нет, т.к. |cos x| ≤ 1, а –1,1 < –1

	5. sin x = [image: image15.wmf]2

5



	5. корней нет, т.к. |cos x| ≤ 1, а [image: image17.wmf]2

5


> 1

	6. sin x = 


	6.  x = (–1)n [image: image21.wmf]3

p


 + πn, n
[image: image22.wmf]Î

z

	7. sin x = 

 
	7.  x = (–1)n+1 [image: image26.wmf]4

p


 + πn, n
[image: image27.wmf]Î

z

	8. sin x = 


	8. x = (–1)n arcsin [image: image31.wmf]4

1


+ πn, n
[image: image32.wmf]Î

z

	9. sin x = –1,02
	9. корней нет, т.к. |sin x| ≤ 1, а –1,02 < –1

	10. sin x = 


	10. корней нет, т.к. |sin x| ≤ 1, а [image: image36.wmf]3

p


 > 1

	11. tg x = 
[image: image37.wmf]3

3

-

 
	11. x = 
[image: image38.wmf]6

p

-

 
+ πn, nz    

	12. tg x = 2
	12. x = arctg 2 +  πn, n
[image: image41.wmf]Î
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	13. ctg x=[image: image43.png]



	13. x =  [image: image45.wmf]6
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 + πn, n
[image: image46.wmf]Î
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	14. ctg x = 5 
	14. x = arctg 5 + πn, n
[image: image47.wmf]Î
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	15. tg x = 0
	15. x = πn, n
[image: image48.wmf]Î
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	16. ctg = –1
	16. x = 
[image: image49.wmf]4
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+ πn, nz

	17. cos x = 1
	17. x = 2πn, n
[image: image52.wmf]Î

z

	18. sin x = –1
	18. x = 
[image: image53.wmf]2
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+ 2πn, nz

	19. cos x = 0
	19. x = [image: image57.wmf]2
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 + πn, n
[image: image58.wmf]Î
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	20. sin x = 0
	20. x = πn, n
[image: image59.wmf]Î
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	21. tg x = 1
	21. x = [image: image61.wmf]4
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 + πn, n
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	22. ctg x = 0
	22. x = [image: image64.wmf]2
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 + πn, n
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